MR

FEXXYRT—Y / T=T VP14 X 40%X40, 5050

lelsnpuj

Manual X, XY Linear Stages / Table Size 40x40, 50x50

M

S10NPO.Id WaISAS Boyi~ISI\”

m
x

S
@
=l
[}
3
=
o

| XMO5A-S1 | XMO5A-S3-CL

YMO4A-S1 YMO5A-S1 YMO5A-S3-CL

|
E &
%- @ XMO04A-s1 @ YMO4A-Ss1
=
40 (14.5) 40
30 Clamp®10 30 15 15
13 13 Clamp®10
o _ 5-M3 Depth 4mm 1 _
= - 1 <
(%) 5. = iy =
= 4-M2 Depth 4mm ui] 9
% sazoss o T gk ]
2 alolo —~ E[o ° 5
g & 5-M3 Depth 4mm + H;[m N © / M o 3
== e ¢ ® ¢ 3
. =] ==
7 &l ‘ m |
(9.25) 2 4-M2 Depth 4mm o]
X 51 (53) = <
%X
b Yy 18 Micrometer Head
= Micrometer Head - -
= .
: : =i
< T T
4-for M3 screws
N <
z S Shaft Length 2.5mm [130 4-for M3 screws
S Shaft Length 2.5mm
=
g @ XMO05A-s1 @ YMO5A-S1
(7]
& 50 Clamp®15 (14.7) 50 Clamp®15
a 40 40 20 20
30 © 30 )
g EE]‘ 13 © 13 S
T 85 r Z - Z
= . 9-M3 Depth 6mm | .’A.
2 4M2 Depth 6mm_[4]° T [ ] 9
e tddes 3 W= meiees
9-M3 Depth 6mm § ¥+ L Vi
Lo = 4 2
=
<
hal

Micrometer Head Micrometer Head

(11L)19AIMS
(SHIL) S 2AN
o &
v
(14.7)
.P
<
N
o
>
3
3 -

7
3 2
=
)
/(
< 1
4 Shaft Length mm4
7': et [J40 4-for M3 screws
1 Shaft Length 4mm
Ll @ XMO5A-S3-CL @ YMO5A-S3-CL
S 7=
[ -
ER 50 Clamp®15 50 Clamp®15
er 40 40
) ~ —~
8 '/ 30 © ET) 5| (@5)\ 20 20
) 13 ] 9-M3 Depth 6mm 13 ©
== Gl o=
g il 4-M2 Depth 6mm_[§ ) = =
g28 4 : : '
3 oS ®ololo 1 i I Eelfelfel
g. B 9-M3 Depth 6mm + H;ﬁlm 0 & PR ﬁ‘m <
@ " o . @ / - ol
~ T
>
3 Z @ (95) 11.5 4-M2 Depth 6mm
D
L (29.5) (95)
Y
[ |J Micrometer Head FPPO3-13 Micrometer Head FPPO3-13
o]—m_!@ﬁ - ERCEIN -
] H ; :
° e i
& =18 4for M3 screws 40 R ﬁ@
73 :ﬁ Shaft Length 4mm ~ ——— = i
3 % i 40 4for M3 screws
= Z Shaft Length 4mm

D'O&S CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181 [E-mail] e-sale@kohzu.co.jp [URL]http://www.kohzuprecision.com




< 5 E‘E
-— o o A e=
I~ o o ol =
PN/ 70AQ=FH4N / 214 70X=423 1 ML i Z 5H
. . . . ! e
Aluminum Body / Cross-Roller Guide / Side-Mount Micrometer 5
%)
pl
5 ke
B o BB
XMO4A-S1 YMO4A-S1 XMO5A-S1 YMO5A-S1 XMO5A-S3-CL YMO5A-S3-CL =M = i
Model Number =3 g
[ EaTTRLTES G §
Mirror Model Number XMO4A-S1-R YMO4A-S1-RRR XMO5A-S1-R YMO5A-S1-RRR | XMO5A-S3-R-CL [YMO5A-S3-RRR-CL| =
F—7VE
Table Size 40mmX40mm 50mmX*x50mm 5
ESpsko ®wE/OZ2O0—FH1/K =
Guide Mechanism Cross-Roller Guide ?
e #8%8) 13mm, #&) 0.3mm =
Motion Range = Coarse 13mm, Fine 0.3mm :L
REE =2um/6.5mm =1um/6.5mm =2um/13mm ;
Straightness - ’ - ’ - =
BNGHER) 10um/ Bz 188) ~ 10um/BIE, M8 ~ 0.5um/BE 5
Minimum Readout 10um/div Coarse = 10pm/div, Fine = 0.5um/div g
~ o
M :E_X/hﬁi X 0.82 arcsec/N-cm | 1.63 arcsec/N-cm|0.31 arcsec/N-cm|0.61 arcsec/N-cm|0.31 arcsec/N-cm|0.61 arcsec/N-cm T
oment Load Stiffness
IKFMETE ENE
Load Capacity (Horizontal) 39.2N (4ksf) % ¥R
ME TIVIEE o
Material Aluminum Alloy
s Btk
Finish Clear-Matt Anodizing
o 0.1kg 0.2kg 0.23kg 0.46kg 0.3kg 0.6kg £
Weight b b } ! b I i I
BRE - = Er
P =20um/6.5mm =20um/6.5mm =20um/13mm 3
BREH A YATOX—ZAYK (6.5mm) ¥EEART 3+ — FPP03-13(13mm) 2
Actuator Micrometer (6.5mm) Fine Pitch Positioner FPP03-13 (13mm)
B *X
P ‘fﬂiﬁ ¥35,000 ¥70,000 ¥40,000 ¥80,000 ¥76,000 ¥152,000 B >y
rice(JPY) B =< ¢
A—N—A—LE E
o ~ %3 ¥15,000 ~ ¥30,000 ~ ¥15,000 ~ ¥30,000 ~ ¥15,000 ~ ¥30,000 ~ A
verhaul Price >
DU—SDUARHRE k.
Ot Faa (W G e e %4 ¥12,000 ¥24,000 ¥12,000 ¥24,000 ¥12,000 ¥24,000 g -
5 (o)
y R2JVAZBH 5 ¥12,000 ¥24,000 ¥12,000 ¥24,000 ¥12,000 ¥24,000 g
acuum Lubricant Change Price 5
5 BFEL. BROMBFICOLTIED-004N—IEBRLTFEL S —2 ) AEBOBREFKRIC -C’ SHEET. FEOVTE o
) Refer to pageD-004 for Information on Standard and Mirror Symmetry C-003X—2 BB L TFELY, S3-CL. S3-R-CL. S3-RRR-CLDJJ A qﬁé
Configuration. . Riald. AEOHERYET, @©
. XAF—JBEDE—X > MIBERO—ILBIEE Y ET #4 Clean room lubricant model has “C” at the end of model number. Page C-003 p=
*2 Moment Stiffness of single X stage is measured in Roll Dir:ection. for further i.nformation. Lubricant change is not available for actuators on g, &
A=A LR EBEBAREEENECA, HEICOLTIE 161~ % s et nejude The 99 model. 5
g BELTFEN (R4 20X —8AY KEF— N~ VSR ET) . R27) AMROBRAGKRIC ©V FHEXT, RRICOLTIRC-003X i
! Additional parts cost is not included on Overhaul cost. Refer to page 16 for —y&%?ﬁk;{?éb\u $3-CL. S3-R-CL. S3-RRR-CLOZTY A3H#.
further information (Micrometer is not included in the overhaul). %5 AhDHE ‘_* JET, N
¢ Vacuum lubricant model has “-V” at the end of model number. Page C-003 for
further information. Lubricant change is not available for actuators on stages %’ A
that include the S3 model. s /‘f\
B X Z{THk Vertical X linear stage customizing g f:kl
WBZRAT7Z7Y NeRWSZET. XAT—YBZAT—JELTHIAT R ZENEETY, /20 BTBLEDAEDICAT—2ZZERICTIVEDSHY FT GERETH =
SELUET), ZHEEADBEEIC DN TIFD-004N—2 DBFROME TIE TS0, BESA TOMBEZAT—IICDVTIRE-016RX—J & ZB T &0, z
X linear stage can utilize as a vertical stage by the use of an option bracket. However, such X linear stage should customize Z-specification(service without charge). Refer to page
D-004 for further information. About the standard vertical X linear stage, refer to page E-016 for further information. % g
o)
BEHRDZELZICKYBROYEL A T, T IICDVTIFO-00IR=27 BB L TREL, ;
FLLIIEEBETHHROADETE, Refer to page 0-001 for information on accessory. 7
We appreciate the product customizing. Contact us for further information. ;
;
& LI
2z
EPA
B
gl
o >
uyss
gz
S S &®
=5 L
w

S9110SS3Y
—oFRNN

walsAs
uonoadsul|

DI

&)
o
=
©

HEVADEII*TEL:044-981-2131 'FAX:044-981-2181 [E-mail] sale@kohzu.co.jp [URL]http://www.kohzu.co.jp



